GUARDIAN SCHOOL

CLASS TEST- 2024-2025

Date :04/07/24 STD IX Time: 1 Hour
Marks: 40

Class Test : No. :01 Sub: English -1
Topic: it itine Ski : b
pic: Interchange of Sentences » Prepositions , Writing Skills Gunicr . C . Mirgtce §F

QW.1 .Write a composition (300- 350 words ) on any one of the following . [20] /[C

A S : :
) Democracy is the best form of government ‘. Express your views either for or against this
Statement .

N}z() “ You have recently been to a holiday resort and have found the service to be beyond your
expectations .Describe your experience at the resort ,the surroundings and natural

beauty and the places you visited adjoining the resort .
Narrate your experience about an incident that made you decide what your future job

would be .

QW.2. Select any one of the following : [10]/ =+

. “A friend in need is a friend indeed .” Write a letter to your friend thanking him for all the
help provided to you during a difficult situation .

/lﬁ raffic jams in your city /town are getting worse day after day. Write a letter to the Deputy
Commissioner of Police (Traffic ) complaining about the problem and offering

suggestions for improvement .
QA. 3. . Fill in the blank with an appropriate word . 61 / g

1. They got -C-L-\)I-QE- the house through a window.

wﬁéle has to complete the task ---b-'}f-- Monday. @

‘{ Please return the book ----- b‘-}---Sunday evening . @
}/w The meeting between the head of the states will take place lear. Race course

me immunity to common cold is low especially ----3_-0---- winter.®

!
vi. The fog was so thick that it was like walking --.L[\iQ-- the clouds.



QA.4.. Rewrite the following sentences according to the instructions given after each y //}
41 /4

without changing their meaning :-

a. Pacific is the deepest ocean in the world.(Rewrite using ‘deeper’ ) _J
I. Pacific is deeper than any other ocean in the world .

Pacific is deeper to any other ocean in the world.
Any other ocean is deeper than Pacific in the world.
Any other ocean is deeper to Pacific in the world.

AW

Did she invite you on her birthday ? (Rewrite beginning with: Were ....)

1. Were you invite by her on her birthday ?

) 2. Were you invited by her on her birthday ?
3. Were you being invited by her on her birthday ?
4. Were you been invite by her on her birthday ?

c. How painful the treatment of toothache is for a child .(Rewrite beginning with : It
is painful....)

1. It is painful for a child to underwent the treatment of toothache. _~
2. It is painful for a child to undergone the treatment of toothache . L )
3. It is painful for a child the treatment of toothache.

/4./ It is painful for a child to undergo the treatment of toothache.

d. He is so hard-working that he can’t fail. (Rewrite using too....)
1. He is too hard to fail..

_2_ He is too hard-working to fail.

3. He isto hardworking to fail .

4. He is hardworking too to fail.




GUARDIAN SCHOOL

CLASS TEST 2024-2025
Date: 05/07/2024 STD: IX Time: 1 Hour p ) T¢
glas.s _Test ol Sub: Commercial Studies Marks: 40/ ' 2\
opic: Human Activities, Business (till types of Industries) 74
© /8

Q.1 Choose the correct answers from the given options:
1. a) Busnjness is an economic activity
!)) Business is different from other economic activities like profession and employment
2./“)”§Ot%1 a and b are true : ii) Only a is true iii) Only b is true iv) None of the above
. The Mminimum qualification required for becoming a businessman is
1) Any professional degree/course ii) Any bachelor’s degree
1i1) Schooling till senior secondary v No qualification required
industries contribute maximum to India’s Gross Domestic Product (GDP).

3
_iif) Tertiary iv) Economic

i) Primary i) Business
4. Activities which are undertaken to satisfy social, religious, cultural and sentimental requirements are

called k

1) Economic activities /ﬁ)/N on-commercial activities

1i1)) Commercial activities iv) Commercial and non-commercial activities
certainty of profits or possibility of loss

5. It is an essential part of business and implies the
iii) Business (Nﬂ:ir:k .
10 /%

1) Profit  1ii) Loss

Q.2. U Answer the following short questions: :
) Distinguish between Economic and Non-Economic activity. @
_2) Define the term business. ("2 , :
State the objective of commercial activities.@

_A) Explain Genetic Industry. @

74)1 What is profession? : _
@) /13
e

Q.3.U Write the answers briefly: ,
“Whether an activity is commercial or non-commercial depends on the motive behind th

activity”. Comment. O
P

istinguish between Employment and Business?

2
Explain the nature of business activities. @
5 ®

xplain manufacturing industry and its types.

Write short notes on: -
a) Professional association @

b) Tertiary Industries
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GUARDIAN SCHOOL,

CLASS TEST 2024-2025

Date: 05/07/2

CLASS TEST:O f4 STD: IX Time: 1

I easurement Sub: Physics Marks: 40‘""'
] rements and experimentation, Motion in one dimension(A) .

Attempt all questions

Q.K.1: .

l)) T:iamc the following ; '

a) A student meas 3
sured the lenp . (3]

length of rod is gth of a rod and wrote it a5 3.50 cm. Instrument is used by student to measure

Name types of error shown in the picture.

Name average distance between Sun and Earth.

c)
11) Enlist any 2 properties which your chosen unit should have while measuring physical unit. 2]
iii) How are the following derived units related to the fundamental units, 51
a) Pascal b)Newton c)Hertz d) kg/m* e) Joule
Q.UA.2A: .
Choose the correct answers to the questions from the given options.
[5M]

write the correct answers only.)
ulum.

(Do not copy the question,
has a longer period of oscillation compared to a shorter pend

) Assertion: A longer pendulum

The period of a pendulum depends on the length of
true, and Reason is the correct explanation for Assertion.

e correct explanation for Assertion.

Reason: the pendulum.

a. Both Assertion and Reason are

b. Both Assertion and Reason are true, but Reason is not th

Assertion is true, but Reason is false.

Assertion is false, but Reason is true.



ol'l):[‘

i) Motion of
of a car;
4CQarin g Crowded street i an example ot
XJ < Ol
UnlfOlTn Speed
Uniform Velogity

Variable acceleration

Ao o P

Unitorm acceleration

iii) 18 km k! s equal to —

1. 10ms!
2. Sms
3. 18mg!
4. 18mys’
iv) A body when pr

O)ected up with an initial velocity u goes to

come int of projecti
s back at the point of Projection. The correct statemen is

A maximum beighs & = o T and e

.

1. The average velocity is 2h/t
2. The acceleration is zero § : )
i - The final velocity on reaching the point of projection is 2u

The displacement is zero

v) Answer the following questions by observing following diagram

10
D 49 - c
v "’
l 12 ﬂle"
Wm ‘a" F }10 m
e
o
."' 0
A ®Wm B

What is distance and displacement when particle moves from point A w B?
(a) distance is equal to displacement

(b) distance is greater than and equal to displacement

(c) distance is lesser than and equal to displacement

(d) distance and displacement is never equal

Q.UA.2B

1 ity 3 < sasoR S Fxd
i) a. A pebble thrown vertically upwards with an initial velocity 30 ms comes 12 3 siop i 2 S Bs

acceleration / retardation.

b. Define The term you found above.

c. Differentiate between acceleration and retardation.

i its lepeth (U7 Doy 2 Smpt SWeTE

ii) a. How does the time period (T) of a simple pendulum depend on its kegthh (117 D ot
jati 2 with 1. o
the variation of T* wit b - ’ ‘ x e
b. Name any two factors on which time period of simple pendulum does not depend ;




Wo S1
What wmﬁgpbl pendu]y
the rat . haye
of their ¢ °qual lep . - .
Q.u IMe periodekn CNEths, but their bobs Wweigh 50 gf and .
R ; dhyl’l‘ovidc reason for your answer. e n_ 0 gt\"especnvely.
1) Fing th 2+1]
c distance tr:
dVL‘“ed by 1 b '
4 bo
DA simpe o dy in 5 MLt rgvels with a uniform speed of 20 1y
Ulum comp|eqeg 40 oscillation« ; ' 2
1) The Size of bact “Clllations gy, one minute. Find it’s a) frcqucncy b) time period (23
Cterais 1 y g O
iV) Tite M. Fing the Number of bacteria in Im length, 1
any twe uses of screw m

N e —

11) Why clock goes fast in winter and slow in summer?

: 111) A car is dripping oil while it is travelling, what is the acceleration of the car?
E

Give reason for your answer.,

iv) A car moving at a constant speed travel past a valley in the road, as shown below. Which of the arrows
shown most closely approximates the direction of the car’s acceleration at that instant at the position shown.

(2]



GUARDIAN SCHOOL
CLASS TEST 2024-2025
STD : IX Time: 1 Hour
Sub: Chemistry Marks: 40

Topic: Language of Chemistry, Chemical changes and reactions

Date: 08/07/24
Class Test No.: 1

Q.K.1.A. Define the following: 2
a) Radical b) Displacement reaction

Q.U-2.A. Write the original colour and the colour of residue{when heated) of the following compounds: o

a) Lead nitrate b) Ammonium dichromate

Q.U.2.B. Distinguish between Endothermic and Exothermic reaction, 2]

Q.U.2.C. Write the colour of the precipitate formed by the following salt solutions: 31
a) Ferrous b) Lead ¢) Copper

Q.U.2.D. What is the variable valency of the following elements? 2
a) Gold b) Lead

QU,UA3A. Balance the follo reactions:

a) Al + H,;S0, >



-3 A y ‘

QUA4 5
1A, ) 5
Choose the most appropriate answer and write, (Do not copy the question) e

. , : - cam on
Y Assertion (A): Following is a balanced chemical equation for the action of st

iron:  3Fet4H,0-Fe,04+4H;
Reason (R): The law of conservation of mass holds good for a chemical equation.
1) Both (A) and (R) are true and (R) is the correct cxpl:mali(m for (A)
i) Both (A) and (R) are true and (R) is not the correct explanation for (A)
ii1) (A) is true, but (R) is false,
iv) (A) is false, but (R) is true. |

b) Formation of white precipitate on mixing solutions of barium chloride and sodium sulphate is an
example of

1) decomposition i) double decomposition iii) displacement iv) combination
¢) The correct atomic symbols of carbon, calcium, copper and cobalt respectively are
DC,Cu,CaCo i)CaCCoCu ii)C, Ca,Cu,Co  iv)Ca C,Cy Co
d) The colour of copper nitrate is
1) white ii) blue iii) green iv) black

~e) Arp_rflonimp chloride (NH,CI) on thermal gl.issgeiaﬁon gives an acidic gas which is

)N, ii) HCI ii1) NH; iv)H,

Q.UA.4.B. Identify the wrong t"ormula and write the corrected one. 2]
1) MgCl3 ii) Ca;N, iii) Na,SO4

Q.UA4.C. XChisa compound. Taking the valency of X, write the formula of its- 2]
a) nitrate : b) sulphide ‘

QUA4.D. Solve the following numericals: £ [4

a) Find the molecular mass of: i) CaCl, .‘ it) (NH),0

b) Find the percentage composmon of sodlum in sodlum nitrate [NaNQs]

[Atonncwexghtsof Ca 40, Cl = 355 N=14, 0 16 H=1,Na=21)
Q.UA4.E. Identify the error in the following reactions: ; 2]

a)N; + Hy > NH- b)Cu + FeSO; > CuSO, + Fe

«
i




GUARDIAN SCHOOL,
CLASS TEST 202
Date: 1/07/2024 e

Class Test No. : | S‘TD e T
. Rar Sub: Maths p
* Rationals and Irragj besian
& lonal Numbers
ompound interest e
_Glungom . Chetgn, Mhatre

Q.K.1] Choose the ¢ |
' orrect answer from t)
i) 12]‘; number 0.3185643185643 18564 e gli:cn = ¥

Q) a natural number ok
N : }:. 5 (b? nn-m.tegcr (¢) a rational number (d) an irrational number

& the following is irrational?

@ JZ ‘ ‘
o (b) 2 (©)V7 () V81
i) Simplified form of\/—a§ ISRt 4 ’

(2)8V8 (b8 W)/

B2 ) 2VZ @4z

iv) For a sum of Rs 25,000 for one year at 10 % p.a.
V)’I}(\j) f;l ;nd SI are same " ;\(‘beI is greater than SI (c) Clis less than SI  (d) CI is twice SI

0 1s the value of an article at a certain time and rate of depreciation is rl for first year and r2 for
second year, the value of article after 2 years can be calculated using formula

LK rl 2
@V =vo(1 +;0—0)(1+1'To) (b)V =Vo(1_:_: 2
= rir2y; $
(OWVa=Vo(df — AT =Vo(l - (1 - 1)
Q.A.2] Solve the following ‘ /
i) Calculate CI for two years on Rs 8000 at 10% p.a compounded yearly. @1/ 3
ii) If Rs 8000 becomes Rs 9261 at 5% p.a. compounded annually, find the time period. m/2

ii) Present population of a village is12100. It increases at a rate of 10% p.a. Find the population

two years ago (4]
iv) Mahesh invested a certain sum of money at CI calculated yearly. If the amount at the end of two years :
was Rs 25,920 and at the end of three years was Rs 31,104. Calculate the rate of interest and sum invested. [4J i

- M1/<

v) Find the difference between CI and SI on Rs 1250 for two years at 8%p.a.

/

Q.K.U 3. Solve the following h
8 . o 0 .

i) Without actual division find whethe§ ;5@ terminating decimal or not? [[3]] /
if) Write in Ascending order 413 227 5,75 2
iif) Ifa=5—2v6,finda’ + 51
iv) Express 2.102 in the form of %, where g # 0 ; -

' i d q is not equal to

7+3Vs _ 7235 _ 5 find the value of p and q where p and q are Integers an
VI 2 e PG ¢ . (4
Zero. ! TR C/
<T@y
- TRes

I —— <
2 €

~

W o



GUARDIAN SCHOOL
CLASS TEST 2024-2025
Time:1 Hour

Date: 02 /07/24 STD: IX
Class Test No.1 Sub: HINDI arks: 40

Topic:_¥T. ¥T§, R, SATHOT: FAdwmgaR ufyad=,

vy Faffaa wa & SR Pdsmgam fif@wi (Ve o) (10) /%

2 ﬁaﬁ@am@%ﬁmml ‘ (2)
3) JAfA - TR M TF -4

R mm&ﬂ%ﬁ?ﬂﬂml (Otn ;'.»?r/\ (2)
3) 3R - 3TN SMAF — 9777,

3 iR =gl & Rk i@l : 2)
3) S(UAM — TNASH) STEN - 27re3y |

¥ FafofeT sl & Yraaee A3 s 15U (2)
3{) g - 30—%_\\ ) YD - IaTagd

4 fag 1 geTavi amml (2)

3{) Pieg BT 3{T) Sl I S&T

"y R FAufafad ez of targde uferqurSas TR R Ui S :
(10) /2

I e d fafae
() " 9% del wara 41 foras v fe usa fHlt A ve suiR vun siues

e a1~

"SI HEA P FE -
(i) ST T HYT BT RTT TE Do o
%mmwmmﬁ&mﬁmgmvwm%mmm ,

? 2)1 L
(i) TPt ST g 3T SR XA o1 o Hfcifohan otz SR i @79
(iv) "STd 3731 BT UIS b Je=a forfay) " (3)/ 2
. 38 UPTHY TP Ia¥ 8] Aeball | §HD gE WM SIS |
(1) ST HYU T I 3R Al &1 62 @yl
(ii) BTDHT DA g2 IHHT T ferra| @ (q
(iii) PTHT DY gl & H SAR Y12 b8 e I BT SR UT? (3) /¢

3)) 9~

-

(iv) BIHY HEF [5G YR B 82 SUDI S534 F1 67

1
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e fafaTi (10)
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(i) SfSidT TG T 1 T ARl 87

(i) H@'Wﬁﬂ&ﬂ%?%ﬁﬁﬁﬁﬁ%ﬂﬂﬁmmﬁﬁwﬁ?
(iv) FTGT-T 2 3 SR B o e T e?
(v)mﬁaﬁmﬁémﬁ%ﬁwﬁﬁmaﬂmm%?
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GUARDIAN SCHOOL
Class Test 2024-2025

Date: 03.07.2023 STD IX Time: 1 Hour

Class Test: 01 Sub: GEOGRAPHY Marks: 40 /7 3 7 «p

Topic: Earth As a Planet, Geographic Grid-Latitudes & Longitudes AAELE € Mhat e

Question 1:
Choose the correct option: (5) / 4
(i) A Pole star can be seen at an angle of ...... at the North Pole.
(a) 0° ()45°N _4J90°N  (d) None of these
(i1) Earth’s diameter at the pole is..........
(a) 12,752 Km. ((()12,714 Km. (c) 12,750 Km. (d) 12,715 Km
(iii) Latitudes help us to divide the Earth into different.........
(a) Nutrition cycle (b) Time zone (c) Drainage system jda’Climatic zone
(iv) The distance between two lines of longitude is maximum at........
(@) Poles  (b)60°W  (c)Torrid zones  _dJ Equator
(v) Which latitude is located at an angular distance of 90° north of the Equator.
(a) Tropic of Cancer ,ﬂff Arctic Circle (c) Antarctic Circle (@)None of these

Question 2:

On the outline map of World mark and label the following: &1

(i)'Bay of Bengal
(ii) Caspian Sea

(iii) Gulf of Mexico-
(iv) Atlantic Ocean

“(v) Strait of Gibraltar

Question 3:

(i) Discuss in brief that the Earth has favourable condition for life to survive.

(ii) In the context of shape of the Earth: el
(a) State any two evidences to prove that the earth is spherical in shape. g /
N

\
:
1 f




(b) How j
i g g A :
twas proved that the Earth is an oblate spheroid.

(iii) Define the following term: 2]
(a) Bi()sphcrc

(b) Photosynthesis faiad /

(1v) The given figure shows the Bedford level experiment. Study and answer the questions that
follow: [3]

(a) Where was this experiment conducted?

(b) At what intervals were the three poles fixed?

() What was concluded by this experiment? /

(v) Give geographical reason for each of the following: 3]
(a) The time of sunrise and sunset is not the same everywhere.

(b) The Earth is neither a burning nor extremely cold planet.

(c) Venus is hotter than Mercury.

Question 4:
(1) Give a technical term for each of the following: Bl / yi | g

4

/(a'){he longitude which is passes through middle of the Pacific Ocean. | D L '
(b) A uniform time throughout the country followed in most parts of the world. a1

(c) A framework of lines of latitude and longitude that cross each other at right angle.

(ii) With reference to Prime Meridian answer the following questions:

/(af)’ﬁow many Meridian of longitude are there in total? 2/

>§lﬁ) What is the extent of Eastern and Western hemisphere?

2




(C . . v oge
) Why is the Prime Meridian also known as Greenwich Meridian?

(iii) o
Nsw, i i
s Cr the following questions:

S th Wi
hxllon = txme and day at Mumbai (73° £) when it is Sunday 10:
8 (92°F), y 10:30 p.m. at

Zag near some islands in the

(iv) Study ¢, :
€ 8iven diagram ang answer the following questions

90°N
oo

Tropic of '_ o S
Capricorn S 7 23.5°S
Antarctic Circle Zemmet

(a) Name the important latitudes?
(b) Which latitude divide the Earth into Northern and Southern Hemisphere.

(c) Which is Great Circle.

(6]

o
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GUARDIAN SCHOOL,
CLASS TEST 2024-2025

Date: 10/07/24 i
Class Test : 1 S 713 :Slx Time: 1 Hour
subd S(Art o
Topic: Object Drawing ) Marks: 40
(qunon. C. Mhgire -
Still Life

*Candidates are instructed that ruling by any means is forbidden.

*Candidates roll number must be written in Jront right side of the corner.

7

OBJECT DRAWING

Objects required: 1 Buttermilk Jar
Arrangement: Arrange the Object in such a way, that it can enhance the beauty of the

object.Special attention should be given to its form, structure ,shade & light to bring

liveliness in work.



GUARDIAN SCHOOL
CLASS TEST 2024-2025

Date: 11/07/2024 STD : IX

Class Test :01 .
Topic: BonkuBabu’s Frien

Time: 1 Hour
Sub: English II Marks: 40
d, Skimbleshanks, JC - Act I Scene (III)

QC.1.) Answer following with reference toJulius Caesar - Act I Sc I:-
/i./ “May we do s0? — What was Marullus supposed to do? How do
~the people now prepare for the triumphal entry of the person?
1/ What is the carpenter criticized for? Why is the cobbler not in his
v shop on that day? How does the cobbler describe his trade?

iii.  What does Marullus criticize the Roman people for? According
to Marullus, what had these commoners done before that show
that they were fond of Pompey?

QU.2.) Answer following with reference to Julius Caesar - Act I Sc II:-
A "~ What is “Holy Chase”? Who is assigned to take “Holy Chase”?
- What s its significance?
/u Where does this scene takes place? What reasons does Caesar give
Antony that Cassius is dangerous?
/.rri How does Cassius plan to trick Brutus into joining the plot against
Caesar? Why does Casca say Caesar fell?
QK.3.) Answer following with reference to Bonku Babu’s Friend:-
; / Do you think Ang belongs to a much higher species than man?
Why so?

y{ Why does Ang think that he is wasting time on this planet? What is
the central message of the story?

‘9( How does BonkuBabu react after encounter with Ang when he
visits lawyer’s house the next day?
QC.4.) Answer the following with reference to Skimbleshanks:-

/’/ What role does the Skimble play in the poem?
—

Explain:- You’ll meet without fail op the midnight mail the Cat
of the railway train.
How do people react when “he” i

s on board? How does Skimble not
“let anything 80 wrong™?

3]

(3]

3]

3]

3]

3]

[3]

[3]

3]

3]

Page | 1



1.

What do the passengers of the train experience when the cat is on [3]
the train? What facilities are available in the little den? How

does Skimble ensure that the passengers have no trouble during

the journey?

QA.5.) Read the following questions and choose the most appropriate response from

bt o
.

A0 o0

o

e

1ii.

c.
d.

the choices given below:- (4]

Which of the following statement is NOT true:-

Keeps a check on hilarity and laughter

Signs the memo

Wishes the passengers goodbye

Wishes the station master
Choose the option that lists the sequence of events in correct order:-

Was the crown offered him thrice?

He is a noble Roman, and well given

Come on my right hand, for this ear is deaf

Come home to me, and I will wait for you

Give me some drink, Titinius

ecadb bacde abcde cadbe
Why did BonkuBabu leave early that day?

Everybody was hurling bitter remarks on him .

aecadb

He was in a hurry to correct the papers.
He felt that it was not a congenial environment for him

He was very much shocked
Why does Marullus chide commoners?
For celebrating death
They should be working
For unattended children

Their fickle allegiance



GUARDIAN SCHOOL

Date: 12-07-2024 CLASS TEST 2024-2025

Class Test No. 1 S STD: IX Time: 1 g,

Topic: ub: HI -C 'S e
opic: The Harappa Civilization / Our Constit?x'fi(o)l:{Y s SIS A

nswers to the ‘ '
1) Wh questions from th . ‘
)a) B?xtr:)talge' ﬂ]l(e Pool at the Great Bath watertight? R0 (5)/ B

ricks
: b) Mortar lined with bit ' :

. ?h M'ud bnf:k platforms ) Both (a) and (b) itumen and gypsum

) Seancing Girl' has which of the following features?
ne sculpture ~bYheavily bangled left arm
c) half closed eyes

d) seated cross-legged
3) Who proposed the 'Objecti ¥

5 . ve's Resolution'?
) Dr. Rajendra Prasad b) Mahatma Gandhi

c) Subhash Chandra Bose d) Jawaharlal Nehru
4) Wl_x/en did 'The Constitution of India' came into effect?
.a)26th January 1950 b) 26th December 1950
¢) 26 January 1930 d) 25th December 1930
5) Seals were made of.
a) Steatite  b) Terracotta
c) Agate /d)/ All of the above

Q.2) With reference to the chief features of the Harappan Civilization answer the following.

a) Any three characteristics features of the town planning. €)
b) Three special features of the houses of the people. €)
c¢) Mention any four common elements between Mohenjo-daro and Harappa. @

Q.3) With reference to the Harappan Civilization answer the following questions. |
a) i) Dancing Girl ii) Seals ' s @
b) Mention any two probable causes for the decline of the Harappan Civilization. (4

9,

¢) Mention any two features of the Harappan Script. 2

Q.4) With reference to the 'Objectives Resolution' explain the following. :
a) Who proposed the 'Resolution'? When was the Resolution passed by the Constituent i
Assembly ? Name the Act that gave legal sanctity to the Constitution Assembly ?

i 'Objectives Resolution'.
b) State any three points of the Objectives ‘ | i (‘
c)) List fouryprinciples that Babasaheb Ambedkar incorporated in the Constitution.



al and answer the following questions.

% a) Identify the seal in the given picture.Which animal is depicted on this seal?
b) Of what material were these seals made? Why were the seals used?
¢) What do the seals reveal about the Harappans?
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